
1.

2.

3.

4.

5.

6.

7.

8.

9.

(C) sft agflhid IÜet (D) ft z414 hifa

(E) qaRa HA

(E) 3gtfa UN

(A)

(C) H

(E)4qafk aA

(A) faRtg
(C) HTG-fAa fastyu
(E) 34gfRa vA

(A) hfcy
(C) HR

(E) 34tfa uA

(A) ATG

(C) 8
(E) 3gafRd uA

(A) 1

1(C)o
(E) 3rguka UN

(A) +a

(B) Y YHY

(C) 3HHI R qul ŽI (D) f gakal 3I
(E) tRa HA

a

(D) RA

[log00 (5logo 100)]P 51 H1T

(C)
b,b'

(B) Ghyfaryu

-a

(D) fatqu

(B) 3Or-A

(D) fg

(B) qÉugUT

(D) FT

y 230 = aT sec 230 - sin 67° aRTaR

(B);

(D)

(B)
b/b2-a2

(D)2-a

(D]

(D]

[D]

(D]

(C]

[AJ

(B]

[D]

[C]

(A) 1:5

(C) 1:8
(E) 3qtRA IA

(A) F7

(C) F4

(E) qtRA UA

a. 4
b. 5

12. q-I t q-II à qfaa foy:

c.9
d. 8

(A) a-IV, b-III, c-II, d-1

(B) a-II, b-IV,c-II, d-I
(C) a-II, b-II, c-IV, d-I
(D) a-IV, b-II, c-III, d-I

(E) 47fRa wA

(A) 4
(C) 2
(E) 34fkd g%

(A) fte
(C) qelse
(E) 3qfRa g%

(A) e, er, hT
(C) te, yAI
(E) 3qtfRd HA

(A) HE

(B) 1:6

(D) 1:4

(C) eftere

(E) 41aRa 9A

(B) F5

(D) F1

I. 1000
II. 1001
III. 0101
IV. 0100

(B) 3

(D) 9

(B) fazfH
(D) fSE

(B) 3T4, f4
(D) orsi, dr

(B) fs
(D) tust

(B]

(B]

[AJ

(D]

(B]

[C]

[BJ

(B]
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18.

22.

(A) fAcl

23.

(E) 4dRa uN

a. fafa
c. 1Rfafz
e. qR

(A) b, c, d

(C) b, d, e

(A) yRyg

(C) qI
(E) 34q1Ra HA

(A) A4UT 4

(E) 4qdfRd VN

20. -fafaa Corrigendum' fa Tqgar

(E) 3qtRa VA

(A) 2,000
(C) 3,000
(E) 3tfa uA

(B) t Z HRI

(A) tasrt
(C)tHcR

(D) ashHRAEHI

(E) qaka yH

b.ff

(A)3FRTAft a

d. HTHf

ye yTIRr P, Q, R, S& Hu6:2:5:3
faafta t Iqf R tS

(D) yi terft ta

(B) C, d, e

(D) a, c, d

(B) 44

(A) 30(V3 + 1) m (HT.) (B) 40(V3 + 1) m (t.)
(C) 80(V3+ 1) m (ft.) (D) 40(V3- 1) m (ft.)
(E) rgrka HN

(D) 43

(B) IU

(B) 2,500
(D) ? 1,000

(D]

(B) y
(D) aTaTST

[AJ

24. aH GT G (Bamboo forest) ZRTH

(D]

(B) <fUT yef yort

(E) 34qafkA IA

(B]

(B]

4741d

2000 fazs

[AJ

[D]

(D]

29.

27. Hifter fArt a Hdy f hel?
(A) GIqS

(A) 13.3%
(C) 12.4%

32.

33.

(C) TAH FT
(D) r51

(A) sft 3cR fE

(E) 3qRa uA

(A) Gterge

() eterge

(E) 3gtRd gN

(A) 22

(A) 7 GR 5 H A

(B) 7 ah 20 fH À
11

(C) 7 jGhR 7fAe
(D) 7 qch 5 H

(E) 3gfRa v
(A) 3e: + RUT

(B)3A + aRU

10

(B) 10.4%
(D) 7.3%

(C) 26
(E) 3rqfkaa

31. 9f 7 8 3Hh GEi f HY

(C) 3 + RU|

(D) J| + U
(E) 3qtfa AA

(A) GTaT YR
(C) arat gHT
(E) 347fd HA

(B) yft
(E) 4gdfA IA

(B) ft fE

(B) RAY
(D)uy

(B) 24

(D) 20

(B) ufAT y

(B]

(D) GH tara

[AJ

[D]

[AJ

[B]

[A]

[B]

[AJ
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34.

(A)RGT HfaaI
(C) HTHt arfey
(E) gdftd HA

?
35. ITRAH H ufar (05 frasar 2024 a)

(A)GTAT fo

(A) R
(C) afATAIg

(E) 4Ra vA

(A)
(C) H¢RT Hufa
(E) 3rqfRa UA

2024 AI4 ET?
(A) frHTf
(C) qereft ts
(E) gaRa IA

?

auat

(E) tRA9A

Tjr?

(A) 16 3UTT, 1946
(B) 16 34141, 1947
(C) 20 3TA, 1947
(D) 15 3TT, 1945
(E) 3471fRd uA

(A) RrRg

(C)

(B)RIGY4 Ht

(E) 4dRa uA

(D)

(A) Giterge

(C) her
(E) 3qtfRa UA

(B) qYTY
(D) HRI GHR

(B) 3U|T HT
(D) Gfcc

(B)ys d
(D) yâ Tat

(B) yfu af

(B)sf . TTHUTA

(D) sff t. RTUI

(B) GUT
(D) fei

[AJ

41. wUrH HA1 ts fatt at 2023-24

(B) Gy
(D) aTSH

[C]

[C]

(B]

[B]

[B]

[A]

[A]

[D]

45

(E) 3qdfRa gA

(A)ffaar

(C)st T-R
(E) qdfRa yA

(C) TUT T4R E
(E) 34gRa uA

(E)34a VN

(A) 1951
(C) 1967
(E) 371fRa vA

(E) 3rqfkd g%

(A) TA

(E)

(A) GArR HR i yRuHI
(B) r HR q qRuI

?
(A) ste

(B) 84411

(C) 4Y

(D) 4y

(E) gfRa yA

(B) ZTUTT faHH

(D) HRIUTI SAI4

(B) 1961

(D) 1947

(B)IY
(D) AH

RA 9A
50. 2011 â TUrT AR Pfefta À

(B)

[C]

(D) tatR

(B]

[BJ

[B]

[B]

[C]

[C]

[A]
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53.

55.

(E) qafka UA

(A) HIS-E etenfn
(C) HTG-Z hH

(E) 34q1fkd yA

(D)R HRT

(B) /4 fayfdarey petufa

(E) jtRa u

(A) TqT
(C) Tguft
(E) 4Ra 9A

(B) HIGZ Haquit
(D) HGE yae

a

(A) Narcisus

(B)frHHHI
(D) qHst

(C)Numismatist

56. Complete the sentence given by choosing

(B) Novice

[D]

the most appropriate word: A person who
admires/loves himself/herself too much is

(D) Narcissist

[C]

(E) Question not attempted

[B]

[C]

[AJ

(D]

57. Choose the word opposite in meaning to

58.

59.

SUSCEPTIBLE

62.

(A) immune
() unpredictable
(E) Question not attempted

(A) amusing

Choose the word similar in meaning to the
underlined word:

(C) frustrating

It is exasperating to listen to the
suggestions of my neighbour about
international affairs of which he knows
nothing.

(E)Question not attempted

(C) round about

complete the sentence:

(B)predictable

Choose the most appropriate option to

The language of a circular is:
(A) emotional

The City Centre

(D) incredible

(A)of
(C) with

(E) Question not attem pted

(B) boring

(C) Gfsf hafe
(E) 44aRa UA

(D) disappointing

tourists.

(A) sl
(C) faare
(E) 44tfa HA

(A) ald
(C) <TAIda

60. Choose the most appropriate word to
complete the given sentence:

(A) qfaR 08

(D) 3t

(B) objective
(D) vague

(E) Question not attempted

MallI was

(B)from
(D) by

(B) Gisf fafety

[A]

(B) fst
(D) RE

(B) ffaa1

[C]

(D) qrt

(D) GÍ 3TSTGH fJUt

[B)

crowded

(E) gfka uA

(C]

[D]

[C]

(D]

[A]
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66.

69.

(A) 4-¢8 f
(C) yG HÌHI
(E) 3gtka UA

71.

(A) 23 3T
(C) 29 3TT
(E) grfka HN

(A) yH. Gf4h
(C) 3fA eTG

(E) 31gfka NA

(A)f-afrt
(C) yG fà|

(A)GhHT: 0-; AB+
(C)hHRT: AB +;0+

(E) 4qafkd HN

(A) 64%

(C) 72%

68. atts fg fafAa sfar q qffp

(E) 3rgrtfRa HA

(A)

(C)
20

25

25
y

16
= 1

70. yc5 SleR fahtt a e AR 50%, 10% 3R

(E) 3qRa uA

(B) TRIGTEÍefar

(C) afagehdlI

(B) t HAE

(E) grfka HA

(D) y HAI

3

(B) 25 3TGT

(D) 21 3TET

(B)Afel ftaRU

(B) HT se
(D) Rus tR

(B) hHRT: AB+;0
(D) GHRT: 0+;AB+

(B) 69%

(D) 60%

(B)

(D)
16 25

[AJ

20

[C]

=1

[AJ

[B]

[B]

[AJ

(D]

[D]

73.

74.

76.

77.

afafa T:

80.

(B)Tafta (s1), THTt a fT

(D)1a 25, 2024
(E) 3fd IN

75. fffta 'ya
(A) 34a

(C)gfgHI4
(E)4qdft wA

(D) 3Tafa (asI), ARAfta str 3eZI
(E) 4Ra uA

(A) feraR 02, 2023

(A)fhRU

(C) GH4
(E) 34fka IA

(A) sR 3tr f

(E) 3RaT HA

(A) GI GII
(C)yrdGU
(E) 34tRa VA

(C) qH
(E) 4tfRa uA

(A)yH3TSyT ()

(C) HaçE ()

(E) 4qHfR yA

(B) dsR 07, 2023
(C) fHqR 01, 2023

fdty
(B) T
(D) fa

(B) r
(D) HT

(B) tsfht
(D) yt Puer

(B) TH AR

(D) Èss zotaR

(B) yHqyaH ()

(D)GIe()

[AJ

[AJ

[AJ

[AJ

(D]

[D]

[A]

[B]

[C]
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82.

85.

86.

1ZB (Zettabyte) aRTGR Î:

87.

(A) 1024 ZB

(B) 1024 KB

(C) 1024 GB

83. 'u ARa SYHf

(D)1024 EB

(E) 3qRa TA

(A) 3
(C) 3r

(E) H4afRd HA

(B) HT ugi sti

(E) 44dka HA

(B) 31

(D)

(A) What has he been insulted by?
(B) He is insulted by whom?
(C) Has he been insulted?

Choose the most appropriate English
translation of the given sentence

(D) Who has insulted him?
(E) Question not attempted go

Choose the most appropriate reported
form of the given sentence:

he was wearing weren't a pair.

"Do you realize that the shoes you are
wearing aren't a pair?", I asked.

"Is dad in?"

(A) Itold him that his shoes aren't a pair.
(B) Iasked him if he realize that his shoes
were not a pair.

"No, he isn't. He
ago. He

(D]

(C)I asked him if he realized that the shoes

[C]

(B]

(D) Iasked that was he aware that his shoes
aren't a pair?

.yet."
(A)Left, has not returned

(E) Question not attempted
Choose the most appropriate option to fill

in the blank:

(B) Leaves, didn't return

[D]

(C) Willhave, has not returned
(D) Leave, not returned
(E) Question not attempted

(C]

home an hour

[AJ

88.

90.

91.

92.

Choose the most appropriate option to fill
in the blank:
By tomorrow afternoon,
carrying

94.

(E) Question not attempted
89. faq4' AZ HT HfA-fasa

(A) fa + q4 (B) feq + H
(C) fa: + q4 (D) fà + HH
(E) 3qtfka IA

(A) willbe taking
(B) will have taken
() takes
(D)will take

(A)ydd - HIR

medicines for
off for Ukraine.

(B) teI - hlI
(C) yur- faera
(D) 4e -

(E) 44aRd UN

(A) 75.50
(C) 90.00

(A) ve

(C) nu

4 hRat 2009 18 TT 2009 a 3afe

(E) Hqafka IN

(A) S, T

(C) T, M

(E) 4qka TA (B]

fheit s H9 À life is good' t 'ti ve su'
'enjoy life' 'fs ti' 'character should be
good'at'nx, nu, bs su' its fahr ATIset

(E) 34qdfk HA

hHH

(A) 110

4

(B) 50.00
(D) 37.50

() 130
(E) 4tRa yA

(B) su
(D) ti

93. P, Q, R, S, T, K otR M tsr f t Gt Ha

War
the plane

victims

(B) K, M

(D)R, Q

[B]

(B) 120

[D]

(D) 100

yra 200 ift fi gA 5% iht ZH H,

[AJ

[AJ
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95.

97.

(A) 15

(C) 25

99.

96. r 3HTpfa PQ, RS

ZPQM=80° 3iR ZSMO=25° at Z0SM

(A) 60°
(C) 65°
(E) RaIA

(E) 3qRa UA

(A) 1081

(B)20

(C) 1281

(D) 5

98. fAfafaa uft ATG fa (?) A

(E)qafka UA

16, 33, 98, 197, 590, ?

(A)454
(C) yet
(E) 4gtRa uA

R

(B) 55°

(D)50°

[AJ

HHiR .
HH

(B) 1181
(D) 981

(B) HTH

(D) -T

[B]

[B]

(B]

(D]

GIg?
(A) <feruT - yd
(C) <fu
(E) 3qtRa wA

(A) JqdE 167
(C) 4gZ 165

(E) qRA UA

(E) 3gtRa NA

(A) hSI I Hfayg

(E) 317tRG HN

(E) 3qtfRa HA

(A) HTGRHd

(C) HH

(B) 3R

(A) 3rfht
(C) ra
(E)344tfRa uA

(D)3R
- ufg

(A) JUTGsfAty aiŽZR(B) T4fT

(B) 3g< 164
(D) 33 162

(B)3TURes HI Haura
(D) af far

(B) TLd
(D) faT

[D]

(B) GHIpftã
(D) rlqilI

[AJ

[AJ

(D) gUrhf HGIGER

[B]

[D]

[B]

[C]
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Read the passage and answer the
questions that follow by choosing the
correct option. (Q. 107 to 111)
Experts in climatology and other scientists
are becoming extremely concerned about
the changes to our climate which are taking
place. Admittedly, climate changes have
OCcurred on our planet before. For example,
there have been several ice ages of glacial
periods.
These climatic changes, however, were

different from the modern ones in that they

occurred gradually and, as far as we know,

naturally The changes currently being
monitored are said to be the result not of
natural causes, but of human activity.

Furthermore, the rate of change is becoming
alarmingly rapid.
The major problem is that the planet appears
to be warming up. According to some
experts, this warming process, known as
global warming, is occurring at a rate
unprecedented in the last 10,000 years. The
implications for the planet are very serious
Risingglobal temperatures could give rise to

such ecological disasters as extremely high
increase in the incidence of flooding and of
droughts. These in turn could have a harmful
effect on agriculture.
It is thought that this anusual warming of the
Earth has been caused by s0-called
greenhouse gases, such as carbon dioxide,
being emitted into the atmosphere by car

engines and modern industrial processes,

for example. Such gases not only add to the
pollutionof the atmosphere, but also create

a greenhouse effect, by which the heat of the
sun is trapped. This leads to the warming up

of the planet.
Politicians are also concerned about climate
change and there are now regular summits
on the subject, attended by representatives
from around 180 oftheworld's industrialized
countries. Of these summits, the most
important one took place in Kyoto in Japan in

1997. There it was agreed that the most
industrialized countries would try to reduce

the volume of greenhouse gas emissions
and were given targets for this reduction of
emissions.
It was also suggested that more forests
should be planted to create so-called sinks to
absorb greenhouse gases. At least part of
the problem of rapid climate change has
been caused by too drastic deforestation.
Sadly, the targets are not being met. Even
more sadly, global warming about climate
changes are often still being regarded as
Scaremongering.

107. Identify the correct statenments
a. The ice ages or glacial periods are
examples of climate changes in the modern
times.
b. In the past, climate changes occurred
gradually and naturally.
C. Rising global tempratures can cause nmore

flooding and droughts.
d. Greenhouse gases are given out by plants.
e. The climate changes today are dissimilar
to those of the past. e of the past.
Choose the most appropriate answer from
the options given below:
(A)a, b and conly. (B) b, a and donly.
(C) c, d andre only. (D) b, cand e only.

(E)Question not attempted [D]

108. The greenhouse effect is caused when
(A) The roof is covered with green plants to

keep the building cool
(B) The gases like carbon-dioxide trap the
heat of the sun in the air
(C) The green coloured glass or mesh is used
to cover the plants
(D) The green trees form a canopy in the
forest
(E)Question not attempted [B]

109. Which of the following were not
suggested at the Kyoto summit?
a. Most industrialized countries would
reduce emissions.
b. More forests should be cut to create the so

called sinks.
C. The automobile industry should roll out
electric vehicles.

check

https://www.sarkarijobportal.org


d. Targets were set to reduce the volume of

greenhouse gas emissions.
e. the rate of industrialization should be
contained.
Choose the most appropriate answer from
the options given below:
(A) b,cand d only.
(C) b, cand e only.
(E) Question not attempted

110. The implications of an unprecedented
are very serious.rate of

(A) Global warming (B) Ecological disaster
(C) Kyoto summit (D) Flooding & draughts
(E) Question not attem pted

111. Match List-I with List-II
List-I (Words)

b. Implications

c. Sinks

(B) C, d and e only.
(D)a, b and c only.

a. Unprecedented absorbs carbon
dioxide from the air

(A) atat
(C) ter
(E) 4qafka HA

(A) 3

(C) 1

List-II (Meaning)

d. Scare
mongering

Choose the most appropriate answer from
the options given below:

(E) gtRA UN

114. qef-I

I. Forests land, which

(A) a- Il, b-IV, c-l, d-III(B) a-III, b-IV, c-II, d-I
(C) a-IV, b-III, c-II, d-I(D) a-I, b-lI, c-III, d-IV
(E) Question not attem pted

II. That which has
never happened
before

[AJ

III.The deliberate
spreading of
frightening rumours
IV. Something that is

suggested

(B) YY
(D) aftetarST

(B) 2
(D) 4

f:
q-Il (44H)

I. eyeg

qet-IIAfa
yt-I (HT Y)

[A]

[D]

(D]

b. Afq

d. ugafur

gq:
(A) a-III, b-1, c-II, -IV
(B) a-II, b-III, c-IV, d-I
(C)a- IV, b-Il, c-I, d-1I

(D) a-1, b-IV, c-II, d-II
(E) 3gRa 9N

115. 'ra' a HHU
(A) A
(C) 3t
(E) HgafRa HH

116. ffta 'IT
(A) 1
(C) i
(E) 3qtfa uA

(A)62

(C) 66

(A) GORRYVIT

(C) GQQRYSIT
(E) 4TiRa uA

(A) 29

(C) 17

TENACIOUS

IV. reqftTa

LANGUAGE: PCRIYCKG ::COMPUTER:?

(A) modest

(B) 3

(C) malign

(D) a

A qyfyarft raz h-?
(B) Fa1
(D) 3raft

(B)64
(D) 60

(B)GOQRYVIT

(D)GOMNYVIT

(B) 31
(D) 27

(B]

(B) resolute
(D)timid

120. Choose the word similar in meaning to

(E) Question not attempted

(B]

[B]

[B]

[AJ

[B)
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(A) 3H he
(C) ÍACR
(E) 371fRa IN

(A) oeÉ
(C) da
(E) gafkd HA

alcohol.

complete the given sentence:

(A) with

123. Choose the most appropriate word to

A teetotaller is one who abstains

() on

(A)gOrIE4

(E) Question not attempted

(C) ht

for the given word: REGULATION

(E) 3guftd 1N

(B) Giu

124. Choose the most appropriate Hindi word

(A) A/(31.60)

(D) hd

(C) M (158.00)

(B) H

(D) rftrg

(E) Question not attempted

(A) H,O
(C)CH;0H
(E) 4uRA UN

126. rt HTTH , KMnO, hT gouiât R

(B) from
(D) in

(A) ZnsO4
(C) CuSO4
(E) 3qfkd gA

(A)auteZH
(C) 3154t
(E) 314aRA UN

(B) fafuHA
(D) 3rfuzUT

(B) 1/ (26.33)
6

(0) M (52.66)

128. Zn + CuS04 ZnSO, + Cu

3
(E) gtRa yA

127. CH,COOCHs + H20 CH;COOH + CzH;OH

(B) CH.COOH
(D)CH3COOC,Hs

(B) Cu

[C]

(D) Zn

(B]

(B) As

(D) 1- (Buna-N)

(AJ

(B]

(D]

[AJ

(B]

[D]

[C]

chIHI:
(A) atee fRsid
(C)SI5aÁ fAgia
(E) 3grRa VA

131. q-I at eft -II
qt-I (a a)
a. afRal
b. ais
c. HISE 31

gfry:

(A) 5 x 1028

()3 x 1025

(E) 37dRa w

(A) GSLV MK2
(C) GSLV

(E) 344fRa IA

(B) ta-efa gia
(D) fhuia fegid

(A) a-IV, b-III, c-I, d-II
(B) a-I, b-II, c-V, d-III
(C)a-II, b-I, c-IV, d-II
(D) a-II, b-IlI, c-I, d-V
(E) 3qfka HA

(A) qoftRT

qfta fifrg:
q-II (RIa)
I. 341dR

(C) ich HARUI

(E) 3qtRa uN

III. Hef

a 7.20 gm/cm² i100 UTH UIg yhch

IV.Ar

(B) 2 x 1021

(D)6 x 10

(B) GSLV MK3

(D)LVM3- M4

(B) qRT/sctarutuft
() 3qafArâi/ft
(D)HTafdAA/Qututt
(E) 4qdRa VA

[B]

(B) yhH HUT
(D) tTf HchRUT

[B]

[D]

[D]

[AJ

[A]

136. Choose the most appropriate passive
form of the given sentence:
People must not leave bicycles in the hall.
(A)Bicycles must not be left in the hall.
(B) The bicycles are not to be left in the hall
by the people.
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(C) The hall must not have any bicycles of
people.
(D) Nobody should leave bicycles in the hall.
(E) Question not attempted

137. Choose the most appropriate option to fill
in the blanks:
It was
still hired
sailalong

(A) the, a, x, a
(C) a, a, a, the

fill in the blanks:

(E)Question not attempted

(A)hria
(C) haf
(E) 3aRa HA

140. qet-I st q-I

b. its aI

138. Choose the most appropriate options to

d. GIGR 311I

windy morning but they
boat and went for

gfg:

coast.

my friends are busy tonight.
of them are writing an exam the

next day, but of them were still
ready to party and so far
of them have confirmed.
(A) most, none, all, some
(B) none, most, all, none
(C) All, most, some, none
(D)Some, some, some, all
(E) Question not attempted

(B) the, X, X,the
(D) a, x, a, the

RT ?
(A)2,500
(C) 1,500
(E) 3rqutRa TA

(A)4,910
(C)5,900

(B) Farf
(D) hd

tgfra fifrg:
{ti-II (3re)

[AJ

(A) a- II, b-III, c-l, d-IV(B) a-III, b-I, c-II, d-IV

(C) a-IL, b-I, c-III, d-IV(D) a-I, b-IV, C-II, d-III
(E) 4gaftd HA

(B) 2,100
(D)3,500

142. 1028 /16 + 512 hT 25% - 75 hl

[C]

141. YA 3%, 5% 3ir 7% ufa q
RÀATURUT

(B) 4,180
(D)4,700

4

of them

(D]

[AJ

(B]

(B]

143. aT 2x + y = 4, X-y+1=0 yd x-4A ia
(A)3 af ghE
(C) 5 quf gchl
(E) 344RT IA

(B) HT Toft

(E) gtka UA

(A) 1RÁtu ftrte (sfsua tfeua)
(B) GTeÎt R (AISs aR)
(C)qys

(E) 4qdRA VA

(A)3T4 h fo
(B) 34TH h

(C) 3T4 ast
(D) 34T4

(A) hUIge
(B) RÀTR
(C) hçlefe
(E) 34grka VA

(B) 4 arf gaTs

(D)2 arf gh1

(E) 441fR HA

148. q â&ta of u

(A)3T4URtthi tetai

(A) TE
(C)ŽITZ
(E) 3rgrftd UA

(A) 3rafA ra
(C) hq TErft
(E) qata uA

(D) 3retaR

(B) yas
(D) eft

(B) fa ž
(D) HHT 3yATi

(D]

[C]

[AJ

[B]

[AJ

[C]

[C]

[AJ
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